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€. Type of property (check one)
= . 1[X One-family, no business
N 2 [] Two-family, no business
3 [J Three-family, no business
¢ [J Four-family, no business
> [} Business and 1. 1o 4-family
6 [J Apartments, no business
7 [J Apartments and business
8 [J Office building
9 [} Store only
10 3 Store and office
11 [J Manufactaring ang industrial
- 12 03 Vacant lot or lang
. 13 [0 Other (please specify)

enestescsenicsianenee. (2) Paid off (year)...Z
(4) Loan sold or assigned (year)
; by foreclosure [J; by voluntary deed [

(Do not write helow this line)




